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JF 3004 GHHMEFEO0.20ha

th_E EBOR UN & =0.20(ha)*1.20(m3/ha)*1.58*0.573(t/m3)*0.5*44/12=0.398
Hh T EB IR UN & =0.398(t-C02)*0.26=0.103(t-CO2)
CO2IRIR & =0.501(t-CO2)

hYUZ 280K HHMEFE0.19ha

#h b ER0R X 8 =0.19(ha)*1.20(m3/ha)*1.33*0.454(t/m3)*0.5*44/12=0.252
H#h T &R R UX & = 0.252(t-C0O2)*0.26=0.066(t-CO2)
CO2IR IR & =0.318(t-CO2)

2XF3 240K HHMEEO.16ha

th_E EBOR UN & =0.16(ha)*1.20(m3/ha)*1.40*0.624(t/m3)*0.5*44/12=0.308
Hh T EB IR UN & =0.308(t-C02)*0.26=0.080(t-CO2)
CO2IR)IR & =0.388(t-CO2)

wA/F 20K SHHEIE0OLha

#h b #R0RUX 8 =0.01(ha)*1.20(m3/ha)*1.33*0.386(t/m3)*0.5*44/12=0.011
#h T &R R UX & = 0.011(t-CO2)*0.26=0.003(t-CO2)
CO2IR IR & =0.014(t-CO2)

') 150% GHHM@E*50.10ha

#h b #R0R UX 8 =0.10(ha)*1.20(m3/ha)*1.33*0.419(t/m3)*0.5*44/12=0.123
H#h T ER R UX & =0.123(t-C0O2)*0.26=0.032(t-CO2)
CO2IL IR & =0.155(t-CO2)

ZTOfLER 12208 SHEFE081ha

th_E ERO% UN & =0.81(ha)*1.20(m3/ha)*1.40*0.624(t/m3)*0.5*44/12=1557
Hh T EBIR UN & = 1.557(t-CO2)*0.26=0.405(t-CO2)
CO2IRIRE =1.962(t-CO2)

ABVYALT 204K, AA/NEZD 300K, I/\VFTAIT 100K, ISRATT 70K HHEFE0.33ha

#h b ER0R X 8 =0.33(ha)*1.20(m3/ha)*1.33*0.519(t/m3)*0.5*44/12=0.501
#h T ER R UX & = 0.501(t-CO2)*0.26=0.130(t-CO2)
CO2IR IR & =0.631(t-CO2)
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E/& 404 MEF50.4%a

th_F ZRIR YN E =0.32(ha)*13.70(m3/ha)*1.23*0.314(t/m3)*0.5%44/12=3.104  ith E EBIK YN E =0.49(ha)*8.20(m3/ha)*1.24*0.407(t/m3)*0.5%44/12=3.718

Hh T EBIR UN & =3.104(t-C0O2)*0.25=0.776(t-CO2)
CO2MR)IR & =3.880(t-CO2)

E/& 2654 ME#50.48ha

Hh T &R 0% UX & =3.718(t-C02)*0.26=0.967(t-CO2)
CO2IR U & =4.685(t-C0O2)

A 46F4 mEiE7.21ha

Hh b BRI UR & =0.48(ha)*18.11(M3/ha)*1.24*0.407(t/m3)*0.5*44/12=8.043  th_t ERURULE =7.21(ha)*11.60(M3/ha)*1.23*0.314(t/m3)*0.5*44/12=509.220

Hh T EBIR UN & =8.043(t-C02)*0.26=2.091(t-CO2)
CO2MRIR & =10.134(t-C0O2)

A¥ 2654 mi5053ha

th_F ZRIR YN & =0.53(ha)*9.20(m3/ha)*1.23*0.314(t/m3)*0.5*44/12=3.453

#h R ERUR U & = 3.453(t-C02)*0.25=0.863(t-CO2)
CO2IR IR & =4.316(t-CO2)

#h T ER IR UX 8 =59.220(t-C0O2)*0.25=14.805(t-CO2)
CO2IR IR & =74.025(t-CO2)
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E/% 40%F4 MEi52.63ha

iﬂJ:%Bﬂ&lbz%=2.63(ha)*9.40(m3/ha)*1.24*0.407(t/m3)*0.5*44/12:22.874(t-coz)
Hh T ER RN & = 22.874(t-C0O2)*0.26=5.947(t-CO2)

CO2I% IR & =28.821(t-CO2)
[COZI!&IBZI=28. 821 (t—COZ/E)]
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A¥ 4054 HEiR0.46ha

i b ERIR N & = 0.46(ha)*10.00(m3/ha)*1.23*0.314(t/m3)*0.5*44/12=3.257(t-CO2)
Hh T SRR UN & = 3.257(t-CO2)*0.25=0.814(t-CO2)
CO2IRIN & =4.071(t-CO2)

E/% 40%F4 HE#50.18ha

Hh_E ER0% UL 8 =0.18(ha)*1.40(m3/ha)*1.24*0.407(t/m3)*0.5*44/12=0.233(t-CO2)
H#h T ZROR UN & =0.233(t-C02)*0.26=0.061(t-CO2)
CO2IRIRE =0.294(t-CO2)

[REEH 404 mTE0.19ha

Hh_E ER0% UL 8 =0.19(ha)*1.80(m3/ha)*1.32*0.668(t/m3)*0.5*44/12=0.553(t-CO2)
Hh T &R0 I 8 =0.553(t-C02)*0.26=0.144(t-CO2)
CO2ILUNE =0.697(t-C0O2)
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[ CO2IRRE =5. 062 (t—CO2.4F) }
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A¥ 7ELE ®EiE2.00ha

ih_F ZRIR YN E =2.00(ha)*11.90(m3/ha)*1.23*0.314(t/m3)*0.5*44/12=16.852(t-CO2)
Hh T BRI UN & = 16.852(t-C0O2)*0.25=4.213(t-C0O2)

CO20% N & =21.065(t-CO2)
:> CO2IRIRE=27. 01 s(t—coz/ﬂi)]
E/% 37F4 ME#E0.71ha

th_E ERI% IN & =0.71(ha)*7.30(m3/ha)*1.24*0.407(t/m3)*0.5*44/12=4.796(t-CO2)
Hh T &R IN & =4.796(t-C02)*0.26=1.247(t-CO2)
CO2IR U & =6.043(t-C0O2)
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th_F ZRIR YN E =0.21(ha)*4.00(m3/ha)*1.57*0.314(t/m3)*0.5%44/12=0.759(t-CO2)
#h T &R IR YN & =0.759(t-C02)*0.25=0.190(t-C0O2)

CO2IRIRE =0.949(t-C0O2)
:> CO2IRINE=1. 418(t—CO2./ ) ]
7YX HEM MFE0.21ha

th_E &R0 IN & =0.21(ha)*1.00(m3/ha)*1.58*0.611(t/m3)*0.5*44/12=0.372(t-CO2)
Hh T &R YN & =0.372(t-C02)*0.26=0.097(t-CO2)
CO2IR U & =0.469(t-C0O2)
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A¥ 2544 MHEiR0.23ha

th_F ZRIR YN & =0.23(ha)*20.00(m3/ha)*1.23*0.314(t/m3)*0.5%44/12=3.257(t-CO2)
Hh T &R IR YN & =3.257(t-C0O2)*0.25=0.814(t-C0O2)

CO2IRUN & =4.071(t-CO2)
:> CO2IRNE =32. 610(t—C02/ﬂ5)]
E/% 2544 @EFE1.70ha

th _E ERI% IR & =1.70(ha)*14.40(m3/ha)*1.24*0.407(t/m3)*0.5*44/12=22.650(t-CO2)
th T &R YR & =22.650(t-CO2)*0.26=5.889(t-CO2)
CO2IRIR & =28.539(t-CO2)
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ih_F ERIR YN & =1.34(ha)*13.50(m3/ha)*1.24*0.407(t/m3)*0.5*44/12=16.738(t-CO2)

#h T ERIR UX & = 16.738(t-CO2)*0.26=4.352(t-CO2)
CO2IR R & =21.090(t-CO2)

E/% 2554 [E#50.30ha

=)

[COZI!&IIII=25. 811 (t—COZ/E)]

i b ERIR Y & =0.30(ha)*13.50(m3/ha)*1.24*0.407(t/m3)*0.5*44/12=3.747(t-CO2)

Hh T SRR U & = 3.747(t-C02)*0.26=0.974(t-CO2)
CO2IRUN & =4.721(t-CO2)
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IEKZRE - XF(1.57)
MEMHERE . X¥(0.25)

A¥ FHE#R MEFE1.90ha

th_F ZRIR YN E =1.90(ha)*6.70(m3/ha)*1.57*0.314(t/m3)*0.5%44/12=11.505(t-CO2)
Hh T BB IR YN & = 11.505(t-C0O2)*0.25=2.876(t-CO2)

CO2IR N & =14.381(t-CO2)

BHEZE : A¥(0.314)

(GRE - EE ) I HFMETER)
(EEREZEEMRDUIFER)
(BARAEEREDHRARAS AL FJRESE)
(BARAEEREDHRARAS AL FJHESE)
(BARAEEREDHRARAS AL FHESE)
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[COZI!&IIII=14. 381 (t—COZ/E)]
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i : 6.00h a

FMOER ;- KRB
BEAR : ER(RT)

CO2RIREEERT—4
sk - E(RF) (BE - B B FRETEE)
FRIEEKE=Z : 6.70m3.~ha (RERHHHEEMSUINFER)
PERZRE - AF(1.57) (BREREMRARAS VAV NREE)
IEMHIERE . XX(0.25) (BAREEBEMRARASA VRV FUREE)
BREFE . X¥(0.314) (BREREMHRARAS AR MREE)
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A¥ FE#K HEFE6.00ha

th_F ZRIR YN & =6.00(ha)*6.70(m3/ha)*1.57*0.314(t/m3)*0.5%44/12=36.333(t-CO2)

#h R SRR U & = 36.333(t-C02)*0.25=9.083(t-CO2)
CO2IR IR & =45.416(t-CO2)

~

EEO—4)—4957 CO2RINE =15.14(t-co2)

(\)/EF7/EX CO2MR IR & =9.08(t-c02)

EERIRYRHE)  CO2MRINE =9.08(t-co2)

() ESRT CO2MR IR & =9.08(t-co2)

BAGCE #—) CO2MR IR £ =3.03(t-c02)

> [cozu&llll=45. 416(t—002/$)]




